No. 1
B =No.

R—O01

LR

AT ()

H4X

90 cm

Ho|

N

i

45 cm

135 cm

He o} 3 —
nt

felo

33 kg

No. 2
B =No.

R—02

g2

wRE (%)

YA X
& 61 cm
BfT 36 cm
=S 155 cm
g 23 kg
No. 3
B RNo.
R—03
g2
Zv7(82)
YA X
& 55 cm
BfT 35 cm
=5 80 cm
EE 5 kg

P.1



= 45 cm

T 30 cm

f
gﬂ:
=S 20 cm
]

£ 2 kg

No. 5
B RNo.
R—05
4
NIH—Z97

(FxTILiNn—)

H4X

g 84 cm
BfT 56 cm
=S 167 cm
g 7 kg
No. 6

B RNo.
R—06
g2
T—71L(8)
YA X

&8 120 cm
BfT 60 cm
=5 38 cm
g 19 kg

P.2



No. 7
B RNo.

R—07

LR

97 (%)

H4X

70 cm

Ho|

N

i

50 cm

55 cm

He o} 3 —
nt

felo

16 kg

No. 8
B RNo.

R—08

g2

97 (%)

H4X

70 cm

Ho|

N

i

50 cm

55 cm

He o} i —
nt

felo

18 kg

B RNo.

R—09

g2

297 (%)

H4X

70 cm

Ho|

N

i

50 cm

55 cm

He o} i —
nt

felo

22 kg

P.3



No. 10
B =No.

R—10

LR

T—IL(F)

YA X
8 120 cm
BfT 90 cm
=5 33 cm
F=E 15 kg
No. 11
B RNo.
R—11
g2
AZRAT—TIL
(%)
YA X
g 75 cm
BfT 50 cm
=5 35 cm
B 11 kg
No. 12
B RNo.
R—12
g2
INGH—FVY
(%)
YA X

= 90 cm

T 50 cm

f
gﬂ:
=& 170 cm
g 14 kg

P4



No. 13

& =No.
R—13

g2

A9 (F)
H4X
& 8 cm
BiT 44 cm
S 118 om
BF=E 26 kg
No. 14
& =No.

R—14
4
TIRAFYIFIRE

(F&xA)
H4X
& 56 cm
B{T 40 cm
=S 60 cm
E=E 6 kg
No. 15
& =No.

R—15
4
ERAEAST—RYIR

(%)
H4X
& 30 cm
B{T 30 cm
=S 88 cm
F=E 8 kg

P.5



No. 16
B =No.

R—16

LR

1R

(FEXTILIN—)

H4X

i 35 cm
B{T 36 om
=S 67 cm
g 3 kg
No. 17
& =No.
R—17
L
A R (& X %)
H4X
] 44 cm
B{T 35 om
=S 41 cm
g 3 kg
No. 18
& =No.
R—18
g

RET—A(R)

H4X

] 42 cm
B{T 50 om
= 74 cm
g 4 kg

P.6



No. 19
B =No.

R—19

LR

RET—RA(R)

H4X

] 42 cm
B{T 50 om
= 74 cm
g 4 kg
No. 20
& =No.

R—20

L

T—IL(F)

YA X
& 72 cm
BfT 52 cm
=5 70 cm
g 7 kg
No. 21
B RNo.
R—21
g2
AR2ITYY
(T ILiN—)
YA X
& 60 cm
BfT 30 cm
=S 126 cm
F=E 8 kg

P.7



No. 22

& =No.

R—22
L

FEN-M4X

(%)
YA X
flg 110 cm
B{T 66 ocm
=S 75 cm
E=E 30 kg
No. 23
& =No.

R—23
L

IV (%)
YA X
8 90 cm
B{T 45 cm
=5 40 cm
g 14 kg
No. 24
& =No.

R—24
g
ZHFETL—)
YA X
8 25 cm
B{T 37 om
=5 48 cm
BFE 2 kg

P.8



No. 25
B =No.

R—25

LR

AR 24

(BEx<)L/N—)

H4X

i 30 cm
B{T 30 om
=5 46 cm
g 4 kg
No. 26
& =No.
R—26
L
a—X5vY
(82)
YA X
i 90 cm
B{T 40 cm
=S 80 cm
E=E 6 kg
No. 27
& =No.
R—27
g
VI77—(8)
YA X

i 125 cm

T 67 cm

gﬂ:
5 58 cm
]

£ 20 kg

P.9



No. 28
B =No.

R—28

LR

97 (%)

H4X

67 cm

Ho|

N

i

32 cm

47 cm

He o} 3 —
nt

felo

kg

No. 29
B =No.

R—29

g2

AR 24

(Bx)L/N—)

H4X

8 30 cm
B{T 30 om
=5 46 cm
g 3 kg
No. 30
& =No.

R—30

g

T—IL(F)

H4X

g 120 cm
B{T 60 om
=S 36 cm
g 12 kg

P.10



No. 31

& 7R~No.

R—31
LR
BF AR ()
H4X
g8 64 cm
BfT 36 ocm
=S 74 cm
F=E 8 kg
No. 32
& 7R~No.

R—32
LR
RNE—/\X(A)
H4X
g8 43 cm
BfT 71 om
=S 29 cm
Eh= 1 kg
No. 33
& 7R~No.

R—33
LR

S=TF—JIL(F)

YA X

i 50 cm
BiT 40 cm
=S 32 cm
BFE 2 kg

P.11



No. 34
B =No.

R—34

LR

XvI98—7—TTIL

H4X

g8 34 cm
B{T 28 om
=S 20 cm
Eh= 1 kg
No. 35
& =No.

R—35

L

T—IL(F)

E 118 cm

T 118 cm

gﬂ:
5 36 cm
]

= 25 kg
No. 36
& 7RNo.

R—36
LR
TIRAFYIFIRR

(% xA)
H4X
e 56 cm
B|iT 40 cm
=S 60 cm
EE 5 kg

P.12



No. 37

& =No.
R—37
g2
Ryko3>
(%)
H4X
& 60 cm
B{T 30 cm
=S 36 cm
g 7 kg
No. 38
& =No.
R—38
4
HEHR (F%)
H4X
& 75 cm
BiT 44 cm
S 117 om
F=E 28 kg
No. 39
& =No.

R—39
4
avy—ILT—oIL

(%)
H4X
& 79 cm
B{T 40 cm
=S 76 cm
E=E 10 kg

P.13



No. 40

& =No.

R—40
g2

®(2)
H4X

& 73 cm
B{T 58 cm
& 151 om
B 11 kg
No. 41
& =No.

R—41
4

AN —=2v7
©217A%w)
H4X

& 36 cm
BiT 26 cm
5 26 cm
Eh= 1 kg
No. 42
& =No.

R—42
4
FE(F)
H4X

& 100 cm

T 66 cm

gﬂ:
=X 148 cm
)

£ 76 kg

P.14



No. 43

B =No.

R—43

LR

T—IL(F)

H4X

120 cm

Ho|

N

i

74 cm

33 cm

He o} 3 —
nt

felo

15 kg

No. 44
B =No.

R—44

£

oo

VAN —/I\R7 Yk

(I )Liv—)

H4X

45 cm

Ho|

N

i

40 cm

60 cm

He o} i —
nt

felo

kg

& 100 cm

T 70 cm

gﬂ:
=X 117 cm
)

= 34 kg

P.15



No. 46

B 7R~No.

R—46
g2

1Z(8)
H4X
& 38 cm
B{T 37 cm
=S 86 cm
FE 5 kg
No. 47
B 7R~No.

R—47
4

AR(FEXDILIN—)

YA X
& 30 cm
BfT 30 cm
5 46 cm
BFE 2 kg
No. 48
B 7R~No.
R—48
g2
T—ILtvbk
(%)
YA X
i 120 cm
BfT 75 ocom
=5 70 cm
BEE 44 kg

P.16



No. 49
B =No.

R—49

LR

T—IL(F)

YA X
g 150 cm
B{T 90 om
=S 32 cm
g 17 kg
No. 50
& =No.
R—50
L
T—7 L ()
YA X
8 60 cm
B{T 60 om
=S 32 cm
EE 5 kg
No. 51
& =No.
R—51
g
Ryb/NYR
(%)
YA X
8 55 cm
B{T 45 cm
=5 46 cm
g 7 kg

P.17



No. 52
B =No.

R—52

LR

HSRAS5YH

(U )LiN—)

& 100 cm

T 40 cm

gﬂ:
5 45 cm
]

= 18 kg

No. 53
B =No.

R—53

g2

=F—J)L(A)

HA4X
e 60 cm
BfT 60 om
=S 30 cm
g 4 kg
No. 54
& 7RNo.
R—54

LR

FE#F (TEHR)
HA4X

8 44 cm
BiT 47 cm
=S 50 cm
g 3 kg

P.18



No. 55
B RNo.

R—55

LR

97 (%)

H4X

42 cm

Ho|

N

i

47 cm

50 cm

He o} 3 —
nt

felo

kg

No. 56
B RNo.

R—56

g2

AR (FxH)

HA4X
8 40 cm
BiT 40 cm
=S 80 cm
g5EE 4 kg
No. 57
B RNo.
R—57

LR

N AN ()
HA4X

e 36 cm
B{T 26 cm
= 41 cm
g5EE 4 kg

P.19



No. 58

B 7RNo.
R—58
R
BRFT AN
YA X
8 54 cm
BT 35 cm
=S 107 cm
E8 8 kg
No. 59
B 7RNo.
R—59
R
IEHEIIAT YD

(FEXTILIN—)

H4X

i 20 cm
B{T 67 om
=S 84 cm
EE 5 kg
No. 60

& =No.
R—60
g
HL(F)
H4X

i 90 cm
B{T 60 om
A cm
g 22 kg

P.20



No. 61

B 7RNo.
R—61
R
#%(8)
YA X
i 30 cm
BT 43 cm
=S 147 cm
BEE 5 kg
No. 62
B 7RNo.
R—62
TR
F¥')—h—k
(2)
YA X
i 30 cm
BT 26 cm
=S 86 cm
BE 2 kg
No. 63
B 7RNo.
R—63
TR
Ah—=TH—F
(H)
YA X
8 62 cm
BT 52 cm
mS 71 cm
BEE 4 kg

P.21



No. 64

& =No.

R—64
g2
T—2)L(8)
H4X
& 90 cm
B{T 60 cm
=S 32 cm
g 7 kg
No. 65
& =No.

R—65
4

®(2)
H4X
& 33 cm
B{T 42 cm
S 147 om
E=E 6 kg
No. 66
& =No.

R—66
4
YAET—T L

(82)
H4X
& 53 cm
B®{T 50 cm
=S 63 cm
g 3 kg

P.22



Mo 67

B R~No.
R—67
g
B9 (F)
HA4X
8 35 cm
B{T 35 cm
=S 8 cm
EE 2 ks

P.23



